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(A) Ideal gas: C=Cy+R (B)U=H+PV (C)Energy 7 stid#ik K MEBHX (D) G =
H =TS (E)0°C &K% &% 0°C 647K » Pkt AR 89(EpAU = 0) (F) 100°C &5k 8 & 100°C 84
AA » AS>0 (G)# heat engine M % » heat source( 2R )4Y Ty 4478, : heat sink(#Hh)e) T, #5 -
R EMASH HZRZFGRBIL = B%6 (B AH=Qp] TS H» T2 » $#Hn
RE BT FYAE A internal energy #9—#  (J) ideal gas it 47 adiabatic process * B PyVi=P:V2 (K) heat
o work % path function (L) % #t 25 147 isothermal process » 8] 57 i 45 work 4 0

2. H—MEN/FELEENS 2 XF4 ideal gas » MY # F podh 8000 Joul 1l HLIR FE s R R 300
K fi s 450 K » L2 A ey AU(N s 2 % ) F0 W(h)E - [E %0t ideal gas &9 Cv=20.8
Joul/(mol-K)] (10%)

3. LA AT 3 (reversible & adiabatical)#) # % 4% 3 mole & ideal gas 8 Pr=40atm - V,=2liter - T\ =

325.2K MBRE Prs Va=10liter & Tz KabAZA6) P2~ T2-Q 2 AH - st ideal gas & Cp=(2)R]
(15%)

4. KT FIRFEAS o [EhokayiiAbh o Al =2257 J/g] (15%)
(1) 2 37 ideal gas LAHE % =T 3 &4 o 48 2 #-BARS] 10 4 -
(2) Tatm F » 5 3£ F - 100°C &R 8 (GR4L) A& 100°C &9k 2, -

3. Areversible Camot cycle engine operates between 450°C and 30°C and releases 2000 jouls to the heat
tank. Find the net work produced per cycle. (15%)

6. Atank contains 5 moles of an ideal gas at an initial temperature of 12°C. Then the gas is heated with a

constant-pressure process to a temperature of 92°C. Calculate W, Q, AU, and AH for the process. [Cp=
(") R] (15%)

7. Calculate AH, AS and AG for the conversion of 5 moles of H20 from liquid water to vapor at | atm, 100°C?
[AFluap = 540 callg] (15%)



